Blots, as shown below, were cut into slices before incubation with primary antibodies.

The Pierce™ Prestained Protein MW Marker, Cat. 26612, from ThermoFisher Scientific,
was used as the protein marker.
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Supplementary information, Fig. S1d Supplementary information, Fig. S1e
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Supplementary information, Fig. S1h
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Supplementary information, Fig. S2b
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Supplementary information,
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Supplementary information, Fig. S2f  gypplementary information, Fig. S2g
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Supplementary information, Fig. S3e Supplementary information, Fig. S3f
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Supplementary information, Fig. S3g
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Supplementary information, Fig. S4b
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